

## A MONOTONICITY PROPERTY INVOLVING THE GENERALIZED ELLIPTIC INTEGRAL OF THE FIRST KIND

ZHEN-HANG YANG AND YU-MING CHU

(Communicated by I. Perić)

*Abstract.* In this paper, we prove that the function

$$r \rightarrow Y(r) = \frac{\mathcal{K}_a(r)}{\sin(\pi a)r^2 \log(e^{R(a)/2}/r')} - \frac{1}{r^2}$$

is strictly increasing from  $(0, 1)$  onto  $(\pi/[R(a)\sin(\pi a)] - 1, a(1-a))$  for all  $a \in (0, 1/2]$ , where  $r' = \sqrt{1-r^2}$ ,  $\mathcal{K}_a(r)$  is the generalized elliptic integral of the first kind,  $R(a) = -2\gamma - \psi(a) - \psi(1-a)$ ,  $\psi$  is the classical psi function and  $\gamma = 0.57721566\dots$  is the Euler-Mascheroni constant.

### 1. Introduction

For real numbers  $a, b$  and  $c$  with  $c \neq 0, -1, -2, \dots$ , the Gaussian hypergeometric function is defined by

$$F(a, b; c; x) = {}_2F_1(a, b; c; x) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n x^n}{(c)_n n!}, \quad (-1 < x < 1), \quad (1.1)$$

where  $(a)_n$  is the shifted factorial function defined by  $(a)_n = a(a+1)(a+2)\cdots(a+n-1) = \Gamma(a+n)/\Gamma(a)$  for  $n = 1, 2, \dots$  and  $(a)_0 = 1$  for  $a \neq 0$ ,  $\Gamma(x) = \int_0^{\infty} t^{x-1} e^{-t} dt$  ( $x > 0$ ) is the classical gamma function and the double inequality

$$\frac{1}{(x+a)^{1-a}} < \frac{\Gamma(x+a)}{\Gamma(x+1)} < \frac{1}{x^{1-a}} \quad (1.2)$$

holds for all  $a \in (0, 1)$  and  $x > 0$  (See [1, 2]).

The following asymptotic formula for the Gaussian hypergeometric function can be found in the literature [3, 1.48]:

$$B(a, b)F(a, b; a+b; x) + \log(1-x) = R(a, b) + O((1-x)\log(1-x)) \quad (x \rightarrow 1), \quad (1.3)$$

*Mathematics subject classification* (2010): 33C05, 33B15, 26D15.

*Keywords and phrases:* Gaussian hypergeometric function, generalized elliptic integral, gamma function, psi function, monotonicity.

This work was supported by Natural Science Foundation of China (Grant Nos. 61673169, 11371125, 11401191) and Tianyuan Mathematics Fund of Natural Science Foundation of China (Grant No. 11626101).

where

$$R(a, b) = -\psi(a) - \psi(b) - 2\gamma,$$

$B(p, q) = \int_0^1 t^{p-1}(1-t)^{q-1} dt = \Gamma(p)\Gamma(q)/\Gamma(p+q)$  ( $p, q > 0$ ) is the classical Beta function,  $\psi(x) = \Gamma'(x)/\Gamma(x)$  is the psi function and  $\gamma = \lim_{n \rightarrow \infty} (\sum_{k=1}^n 1/k - \log n) = 0.57721566\dots$  is the Euler-Mascheroni constant.

It is well known that the Gaussian hypergeometric function  $F(a, b; c; x)$  has many important properties and applications in mathematics, physics and engineering. In particular, many important functions are the special or limiting cases of the Gaussian hypergeometric function.

Let  $a \in (0, 1)$  and  $r \in (0, 1)$ . Then the generalized elliptic integral  $\mathcal{K}_a(r)$  [4, 5] of the first kind is defined by

$$\mathcal{K}_a(r) = \frac{\pi}{2} F(a, 1-a; 1; r^2). \tag{1.4}$$

Clearly,  $\mathcal{K}_a(0^+) = \pi/2$  and  $\mathcal{K}_a(1^-) = \infty$ . If  $a = 1/2$ , then  $\mathcal{K}_a(r)$  reduces to the complete elliptic integral  $\mathcal{K}_{1/2}(r) \equiv \mathcal{K}(r)$  of the first kind. Recently, the generalized elliptic integral  $\mathcal{K}_a(r)$  has attracted the attention of many researchers. From the symmetry of (1.4), we assume that  $a \in (0, 1/2]$  in what follows.

Carlson and Gustafson [6] proved that the inequality

$$\frac{\mathcal{K}(r)}{\log\left(\frac{4}{r'}\right)} < \frac{4}{3+r^2}$$

holds for all  $r \in (0, 1)$ , where and in what follows  $r' = \sqrt{1-r^2}$ .

Anderson et. al. [7] conjectured that

$$\frac{\mathcal{K}(r)}{\log\left(\frac{4}{r'}\right)} > \frac{9}{8+r^2}$$

for all  $r \in (0, 1)$ . It was proved by Rühnau in [8].

In [9, 10], the authors proved that the double inequality

$$1 + \lambda r'^2 < \frac{\mathcal{K}(r)}{\log\left(\frac{4}{r'}\right)} < 1 + \mu r'^2$$

holds for all  $r \in (0, 1)$  if and only if  $\lambda \leq \pi/(4 \log 2) - 1$  and  $\mu \geq 1/4$ .

Wang et. al. [11] proved that the double inequality

$$1 + \alpha r'^2 < \frac{\mathcal{K}_a(r)}{\sin(\pi a) \log\left(\frac{e^{R(a)/2}}{r'}\right)} < 1 + \beta r'^2 \tag{1.5}$$

holds for all  $a \in (0, 1/2]$  and  $r \in (0, 1)$  if and only if  $\alpha \leq \pi/[R(a) \sin(\pi a)] - 1$  and  $\beta \geq a(1-a)$  and the two-sided inequality

$$\frac{R^2(x)}{(1+x-x^2)R(x)-1} < \frac{\pi}{\sin(\pi x)} < (1+x-x^2)R(x) \tag{1.6}$$

takes place for all  $x \in (0, 1/2]$ , where

$$R(x) = R(x, 1 - x) = -2\gamma - \psi(x) - \psi(1 - x). \tag{1.7}$$

In [12], the authors proved that the function

$$J(r) = \frac{r'^2 \mathcal{K}_a(r)}{\frac{\mathcal{K}_a(r)}{\sin(\pi a)} - \log\left(\frac{e^{R(a)/2}}{r'}\right)} \tag{1.8}$$

is strictly decreasing from  $(0, 1)$  onto  $(\sin(\pi a)/[a(1 - a)], \pi \sin(\pi a)/[\pi - R(a) \sin(\pi a)])$  for all  $a \in (0, 1/2]$ .

The main purpose of this paper is to prove that the function

$$Y(r) = \frac{\mathcal{K}_a(r)}{\sin(\pi a)r'^2 \log(e^{R(a)/2}/r')} - \frac{1}{r'^2} \tag{1.9}$$

is strictly increasing from  $(0, 1)$  onto  $(\pi/[R(a) \sin(\pi a)] - 1, a(1 - a))$  for all  $a \in (0, 1/2]$ .

### 2. Lemmas

In order to prove our main result we need several lemmas, which we present in this section.

LEMMA 2.1. (See [3, Theorem 1.25]) *Let  $-\infty < a < b < \infty$ ,  $f, g : [a, b] \rightarrow \mathbb{R}$  be continuous on  $[a, b]$  and differentiable on  $(a, b)$ , and  $g'(x) \neq 0$  on  $(a, b)$ . If  $f'(x)/g'(x)$  is increasing (decreasing) on  $(a, b)$ , then so are the functions*

$$\frac{f(x) - f(a)}{g(x) - g(a)}, \quad \frac{f(x) - f(b)}{g(x) - g(b)}.$$

*If  $f'(x)/g'(x)$  is strictly monotone, then the monotonicity in the conclusion is also strict.*

LEMMA 2.2. (See [13]) *Let  $A(t) = \sum_{k=0}^{\infty} a_k t^k$  and  $B(t) = \sum_{k=0}^{\infty} b_k t^k$  be two real power series converging on  $(-r, r)$  ( $r > 0$ ) with  $b_k > 0$  for all  $k$ . If the non-constant sequence  $\{a_k/b_k\}$  is increasing (decreasing) for all  $k$ , then the function  $A(t)/B(t)$  is strictly increasing (decreasing) on  $(0, r)$ .*

LEMMA 2.3. (See [14, Theorem 2.1]) *Let  $A(t) = \sum_{k=0}^{\infty} a_k t^k$  and  $B(t) = \sum_{k=0}^{\infty} b_k t^k$  be two real power series converging on  $(-r, r)$  and  $b_k > 0$  for all  $k$ , and  $H_{A,B}(t) = A'(t)B(t)/B'(t) - A(t)$ . Suppose that for certain  $m \in \mathbb{N}$ , the non-constant sequence  $\{a_k/b_k\}$  is increasing (decreasing) for  $0 \leq k \leq m$  and decreasing (increasing) for  $k \geq m$ . Then the function  $A(t)/B(t)$  is strictly increasing (decreasing) on  $(0, r)$  if and only if  $H_{A,B}(r^-) \geq (\leq) 0$ . Moreover, if  $H_{A,B}(r^-) < (>) 0$ , then there exists  $t_0 \in (0, r)$  such that the function  $A(t)/B(t)$  is strictly increasing (decreasing) on  $(0, t_0)$  and strictly decreasing (increasing) on  $(t_0, r)$ .*

LEMMA 2.4. (See [15, Theorem 9]) *Let  $a < b$ ,  $f$  and  $g$  be two differentiable functions on  $(a, b)$ , and  $H_{f,g}(x) = f'(x)g(x)/g'(x) - f(x)$ . If  $f(b^-) = g(b^-) = 0$ ,  $g'(x) < 0$  for  $x \in (a, b)$ ,  $H_{f,g}(a^+) < 0$ , and there exists  $c \in (a, b)$  such that  $f'(x)/g'(x)$  is strictly decreasing on  $(a, c)$  and strictly increasing on  $(c, b)$ , then  $f(x)/g(x)$  is strictly increasing on  $(a, b)$ .*

LEMMA 2.5. *Let  $Y(r)$  be defined by (1.9). Then*

$$\lim_{r \rightarrow 1^-} Y(r) = a(1 - a).$$

*Proof.* From (1.9) we clearly see that  $Y(r)$  can be rewritten as

$$Y(r) = \frac{\frac{\mathcal{K}_a(r)}{\sin(\pi a)} - \log \frac{e^{R(a)/2}}{r'}}{r'^2 \mathcal{K}_a(r)} \frac{2\mathcal{K}_a(r)}{R(a) - \log(1 - r^2)}. \tag{2.1}$$

It follows from (1.3), (1.4) and the monotonicity of the function  $J(r)$  given by (1.8) together with the identity  $\Gamma(a)\Gamma(1 - a) = \pi/\sin(\pi a)$  that

$$\lim_{r \rightarrow 1^-} \frac{\frac{\mathcal{K}_a(r)}{\sin(\pi a)} - \log \frac{e^{R(a)/2}}{r'}}{r'^2 \mathcal{K}_a(r)} = \frac{a(1 - a)}{\sin(\pi a)}, \tag{2.2}$$

$$\lim_{r \rightarrow 1^-} \frac{2\mathcal{K}_a(r)}{R(a) - \log(1 - r^2)} = \frac{\pi}{B(a, 1 - a)} = \frac{\pi\Gamma(1)}{\Gamma(a)\Gamma(1 - a)} = \sin(\pi a). \tag{2.3}$$

Therefore, Lemma 2.5 follows easily from (2.1)–(2.3).  $\square$

LEMMA 2.6. *Let  $\{u_n\}_{n=1}^\infty$  and  $\{v_n\}_{n=1}^\infty$  be defined by*

$$u_n = 1 - \frac{\Gamma(a + n)\Gamma(1 - a + n)}{n!(n - 1)!}, \quad v_1 = R(a) - 1, \quad v_n = \frac{1}{n - 1} \quad (n \geq 2).$$

*Then the the sequence  $\{u_n/v_n\}$  is strictly increasing for  $n \geq 2$  and  $a \in (0, 1/2]$ .*

*Proof.* Let  $a \in (0, 1/2]$ ,  $n \geq 2$  and

$$h_n = \frac{(n + 1 + a - a^2)\Gamma(n + a)\Gamma(n + 1 - a)}{(n + 1)!(n - 1)!}.$$

Then simple computations lead to

$$\frac{u_{n+1}}{v_{n+1}} - \frac{u_n}{v_n} = 1 - h_n, \tag{2.4}$$

$$\frac{h_{n+1}}{h_n} - 1 = \frac{a(1 - a)(2 - a)(a + 1)}{n(n + 2)(n + 1 + a - a^2)} > 0. \tag{2.5}$$

It follows from (1.2) that

$$\frac{n(n+1+a-a^2)}{(n+1)^2} < h_n = \frac{n(n+1+a-a^2)}{n+1} \frac{\Gamma(n+a)}{\Gamma(n+1)} \frac{\Gamma(n+1-a)}{\Gamma(n+1)} < \frac{n(n+1+a-a^2)}{n(n+1)},$$

$$\lim_{n \rightarrow \infty} h_n = 1. \tag{2.6}$$

Therefore, Lemma 2.6 follows easily from (2.4)-(2.6).  $\square$

LEMMA 2.7. *Let  $R(x)$  be defined by (1.7). Then*

$$R(x) \geq 4 \log 2$$

for all  $x \in (0, 1/2]$ .

*Proof.* It follows from the function  $x \mapsto \xi(x) = 1/[x(1-x)] - R(x)$  is strictly increasing form  $(0, 1/2]$  onto  $(1, 4 - 4 \log 2]$  given in [11, Lemma 2.1] and the function  $1/[x(1-x)]$  is strictly decreasing from  $(0, 1/2]$  onto  $[4, \infty)$  that  $R(x) = 1/[x(1-x)] - \xi(x)$  is strictly decreasing from  $(0, 1/2]$  onto  $[4 \log 2, \infty)$ .  $\square$

### 3. Main results

THEOREM 3.1. *Let  $Y(r)$  be defined by (1.9). Then  $Y(r)$  is strictly increasing from  $(0, 1)$  onto  $(\pi/[R(a) \sin(\pi a)] - 1, a(1-a))$  for all  $a \in (0, 1/2]$ .*

*Proof.* Let  $\{u_n\}_{n=1}^\infty$  and  $\{v_n\}_{n=1}^\infty$  be defined as in Lemma 2.6,  $x = r^2 \in (0, 1)$ ,  $f(x) = \pi F(a, 1-a; 1; x)/\sin(\pi a) - [R(a) - \log(1-x)]$ ,  $g(x) = (1-x)[R(a) - \log(1-x)]$ ,  $D_+ = \{a|u_2/v_2 - u_1/v_1 \geq 0\}$  and  $D_- = \{a|u_2/v_2 - u_1/v_1 < 0\}$ . Then from (1.1), (1.4), (1.9) and the identity  $\Gamma(a)\Gamma(1-a) = \pi/\sin(\pi a)$  we clearly see that

$$Y(r) = \frac{f(x)}{g(x)}, \tag{3.1}$$

$$\lim_{x \rightarrow 1^-} f(x) = \lim_{x \rightarrow 1^-} g(x) = 0, \tag{3.2}$$

$$\lim_{x \rightarrow 0^+} \frac{f(x)}{g(x)} = \frac{\pi}{R(a) \sin(\pi a)} - 1, \tag{3.3}$$

$$f'(x) = \frac{\pi}{\sin(\pi a)} \sum_{n=1}^\infty \frac{(a)_n (1-a)_n}{n!(n-1)!} x^{n-1} - \frac{1}{1-x}$$

$$= \sum_{n=1}^\infty \left[ \frac{\Gamma(a+n)\Gamma(1-a+n)}{n!(n-1)!} - 1 \right] x^{n-1} = - \sum_{n=1}^\infty u_n x^{n-1}, \tag{3.4}$$

$$g'(x) = 1 - R + \log(1-x) = -(R-1) - \sum_{n=2}^\infty \frac{x^{n-1}}{n-1} = - \sum_{n=1}^\infty v_n x^{n-1}, \tag{3.5}$$

$$\frac{f'(x)}{g'(x)} = \frac{\sum_{n=1}^{\infty} u_n x^{n-1}}{\sum_{n=1}^{\infty} v_n x^{n-1}}. \tag{3.6}$$

We divide the proof into two cases.

*Case 1*  $a \in D_+$ . Then from Lemma 2.6 we know that the non-constant sequence  $\{u_n/v_n\}_{n=1}^{\infty}$  is increasing, and Lemma 2.2 and (3.6) lead to the conclusion that  $f'(x)/g'(x)$  is strictly increasing on  $(0, 1)$ . It follows from Lemma 2.1 and (3.2) together with the monotonicity of  $f'(x)/g'(x)$  that  $f(x)/g(x)$  is strictly increasing on  $(0, 1)$ . Therefore, the desired result follows from Lemma 2.5, (3.1) and (3.3) together with the monotonicity of  $f(x)/g(x)$ .

*Case 2*  $a \in D_-$ . Then Lemma 2.6 implies that the non-constant sequence  $\{u_n/v_n\}$  is decreasing for  $1 \leq n \leq 2$  and increasing for  $n \geq 2$ .

We claim that  $H_{f',g'}(1^-) = \lim_{x \rightarrow 1^-} [f''(x)g'(x)/g''(x) - f'(x)] > 0$  for all  $a \in (0, 1/2]$ . Indeed, if there exists  $a_0 \in (0, 1/2]$  such that  $H_{f',g'}(1^-) \leq 0$ , then Lemma 2.3 and (3.6) together with the piecewise monotonicity of the sequence  $\{u_n/v_n\}_{n=1}^{\infty}$  lead to the conclusion that  $f'(x)/g'(x)$  is strictly decreasing on  $(0, 1)$ . It follows from Lemmas 2.1 and 2.5 together with (3.1)-(3.3) and the monotonicity of  $f'(x)/g'(x)$  that  $f(x)/g(x)$  is strictly decreasing on  $(0, 1)$  and

$$a_0(1 - a_0) < Y(r) < \frac{\pi}{R(a_0) \sin(\pi a_0)} - 1. \tag{3.7}$$

We clearly see that inequality (3.7) contradicts with the second inequality of (1.6).

From Lemma 2.3 and  $H_{f',g'}(1^-) > 0$  together with (3.6) and the piecewise monotonicity of the sequence  $\{u_n/v_n\}_{n=1}^{\infty}$  we know that there exists  $x_0 \in (0, 1)$  such that  $f'(x)/g'(x)$  is strictly decreasing on  $(0, x_0)$  and strictly increasing on  $(x_0, 1)$ .

It follows from (1.1), (1.6), (3.4), (3.5) and Lemma 2.7 that

$$g'(x) = -[R(a) - 1] - \log \frac{1}{1-x} < 0 \tag{3.8}$$

for  $a \in (0, 1/2]$  and

$$\begin{aligned} \lim_{x \rightarrow 0^+} H_{f,g}(x) &= \lim_{x \rightarrow 0^+} \left[ \frac{f'(x)}{g'(x)} g(x) - f(x) \right] \tag{3.9} \\ &= \lim_{x \rightarrow 0^+} \left[ \frac{\frac{\pi}{\sin(\pi a)} \sum_{n=1}^{\infty} \frac{(a)_n (1-a)_n}{n!(n-1)!} x^{n-1} - \frac{1}{1-x}}{1 - R(a) + \log(1-x)} (1-x)(R(a) - \log(1-x)) \right] \\ &\quad - \lim_{x \rightarrow 0^+} \left[ \frac{\pi}{\sin(\pi a)} \sum_{n=0}^{\infty} \frac{(a)_n (1-a)_n}{(n!)^2} x^n - (R(a) - \log(1-x)) \right] \\ &= \frac{R(a) \left( \frac{\pi a (1-a)}{\sin(\pi a)} - 1 \right)}{1 - R(a)} - \left( \frac{\pi}{\sin(\pi a)} - R(a) \right) \\ &= -\frac{(1+a-a^2)R(a)-1}{R(a)-1} \left[ \frac{\pi}{\sin(\pi a)} - \frac{R^2(a)}{(1+a-a^2)R(a)-1} \right] < 0. \end{aligned}$$

From Lemma 2.4, (3.2), (3.8), (3.9) and the piecewise monotonicity of  $f'(x)/g'(x)$  we know that  $f(x)/g(x)$  is strictly increasing on  $(0, 1)$ . Therefore, Theorem 3.1 follows from Lemma 2.5, (3.1) and (3.3) together with the monotonicity of  $f'(x)/g'(x)$ .  $\square$

Theorem 3.1 leads to Corollary 3.2 immediately.

**COROLLARY 3.2.** *The double inequality (1.5) holds for all  $a \in (0, 1/2]$  and  $r \in (0, 1)$  if and only if  $\alpha \leq \pi/[R(a) \sin(\pi a)] - 1$  and  $\beta \geq a(1 - a)$ .*

#### REFERENCES

- [1] J. G. WENDEL, *Note on the gamma function*, Amer. Math. Monthly, 1948, **55**, 563–564.
- [2] F. QI, *Bounds for the ratio of two gamma functions*, J. Inequal. Appl., 2010, **2010**, Article ID 493058, 84 pages.
- [3] G. D. ANDERSON, M. K. VAMANAMURTHY AND M. VUORINEN, *Conformal Invariants, Inequalities, and Quasiconformal Maps*, John Wiley & Sons, New York, 1997.
- [4] P. F. BYRD AND M. D. FRIEDMAN, *Handbook of Elliptic Integrals for Engineers and Scientists*, Springer-Verlag, New York, 1971.
- [5] G. D. ANDERSON, S.-L. QIU, M. K. VAMANAMURTHY AND M. VUORINEN, *Generalized elliptic integrals and modular equations*, Pacific J. Math., 2000, **192** (1), 1–37.
- [6] B. C. CARLSON AND J. L. GUSTAFSON, *Asymptotic approximations for symmetric elliptic integrals*, SIAM J. Math. Anal., 1994, **25** (2), 288–303.
- [7] G. D. ANDERSON, M. K. VAMANAMURTHY AND M. VUORINEN, *Functional inequalities for hypergeometric functions and complete elliptic integrals*, SIAM J. Math., 1993, **23** (2), 512–524.
- [8] R. KÜHNAU, *A method for testing the positivity of a function*, Z. Angew. Math. Mech., 1994, **74** (2), 140–143.
- [9] S.-L. QIU AND M. K. VAMANAMURTHY, *Sharp estimates for complete elliptic integrals*, SIAM J. Math. Anal., 1996, **27** (3), 823–834.
- [10] H. ALZER, *Sharp inequalities for the complete elliptic integral of the first kind*, Math. Proc. Cambridge Philos. Soc., 1998, **124** (2), 309–314.
- [11] M.-K. WANG, Y.-M. CHU AND S.-L. QIU, *Sharp bounds for generalized elliptic integrals of the first kind*, J. Math. Anal. Appl., 2015, **429** (2), 744–757.
- [12] M.-K. WANG, Y.-M. CHU AND S.-L. QIU, *Some monotonicity properties of the generalized elliptic integrals with applications*, Math. Inequal. Appl., 2013, **16** (3), 671–677.
- [13] M. BIERNACKI AND J. KRZYŻ, *On the monotony of certain functionals in the theory of analytic functions*, Ann. Univ. Mariae Curie-Skłodowska. Sect. A, 1955, **9**, 135–147.
- [14] ZH.-H. YANG, Y.-M. CHU AND M.-K. WANG, *Monotonicity criterion for the quotient of power series with applications*, J. Math. Anal. Appl., 2015, **428** (1), 587–604.
- [15] ZH.-H. YANG, *A new way to prove L'Hospital monotone rules with applications*, arXiv:1409.6408 [math.CA], available online at <http://arxiv.org/pdf/1409.6408v1.pdf>.

(Received November 25, 2015)

Zhen-Hang Yang  
 Department of Mathematics  
 Huzhou University  
 Huzhou 313000, China  
 e-mail: yzhkm@163.com

Yu-Ming Chu  
 Department of Mathematics  
 Huzhou University  
 Huzhou 313000, China  
 e-mail: chuyuming2005@126.com